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QUESTION 1

Which command parameter will result in a thin-provisioned LUN? 

A. -space-allocation enabled 

B. -space-reservation disabled 

C. -space-gurantee none 

D. -space-guarantee volume 

Correct Answer: C 

 

QUESTION 2

Which configuration Is supported using NetApp\\'s All SAN Array (ASA)? 

A. 24-node cluster 

B. single node cluster 

C. 2-node cluster 

D. 12-node cluster 

Correct Answer: C 

Reference: https://docs.netapp.com/allsan/index.jsp?topic=%2Fcom.netapp.doc.dot-asa- config%2FGUID-
C0C9B6EF-1AA7-429E-BB84-AC5F9E16D088.html 

 

QUESTION 3

Exhibit 
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Referring to the exhibit, what is the maximum possible IOPS for the VOL_A volume? 

A. 1000 IOPS 

B. 500 IOPS 

C. 2000 IOPS 

D. 100 IOPS 

Correct Answer: B 

 

QUESTION 4

Exhibit. 

You have an SVM-DR relationship as shown in the exhibit. You are given a new requirement to use SnapMirror
Synchronous (SMS) for the data volumes In NFS-SVM-01. In this scenario, which solution Is supported to enable SMS
in ONTAP 9.8 software? 
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A. Set up new SM-S relationships from the AFF A220 to a new destination. 

B. Set up new SM-S relationships from the FAS2720 to a new destination. 

C. Set up NetApp Cloud Sync with a cloud broker in AWS to replicate to a new destination. 

D. Modify the existing SVM-DR policy to use sync mode. 

Correct Answer: C 

 

QUESTION 5

You need to configure data-at-rest encryption for your NetApp ONTAP 9.8 cluster. Your company does not have Key
Management Interoperability Protocol (KMIP) services available but must require a passphrase to be entered when a
node Is rebooted. 

In this scenario, which two actions should be performed to satisfy these requirements? (Choose two.) 

A. Configure an external key management server. 

B. Enable onboard key management. 

C. Enable cluster-wide FlPS-compliant mode. 

D. Enable common criteria mode. 

Correct Answer: BD 

Explanation: Enabling onboard key management by default you are not required to enter a passphrase when the node
is rebooted. To be asked the password , you need to enable the common criteria mode also. Reference:
https://docs.netapp.com/ontap-9/topic/com.netapp.doc.pow- nve/Encryption%20of%20data%20at%20rest.pdf 
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